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g mit'y =0,5x+ 2

Pn(x[0, 5x + 2)

— x—3
MP, =
(O,5x+2)

MP,

V(x—3)2+ (0,5x + 2)2 LE

<

Py

VX2 — 6x+ 94 0,25x2 + 2x + 4 LE

MP, = 1/1,25x2 — 4x + 13 LE

A(x) = MP, -

2
A(x) = \/1,25x2 — 4x + 13" - 7 FE

A(x) = 7 (1,25x° — 4x + 13) FE

x3 =4 = MP3=+v17 LE

u3=2-v17 -7 LE=2591 LE

A; = V17 -7 FE = 53,41 FE

Ich betrachte dazu
1,25x% - 4x + 13

T(x) =

1,25

— 1,25
— 1,25

= 1,25
= 1,25

[X*- 3,24 +13

[ - 3,2x+1,6°) - 1,6°] +13
[(x-1,6)-2,56] + 13

- (x-1,6)*-2,56] +13
(x-1,6)*> + 9,8

= Anin=9,87FE furx=1,6



g = V13 LE
= /1,250 — 4x+ 13 = V13 |?
= 1,25x* — 4x + 13 = 13

<:>1’ 25)(2*4)(:0 a=1,25
4+16 b=-4
X1/2:T c=0
x=3,2 V x=0 D=(-4)-4-1,25-0
L = {0;3,2} D=16

= P5(0/2) Qs(3,2[3.6)



